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D-1 A= 0.3 X 0.30 = 0. 090 5 &
D-2 A= 0.3 X 0.20 = 0. 060 5 &
D-3 A= 0.3 X 330 = 1. 155 5 &
D-4 A= 0.15 X 0.15 = 0.023 5 &
D-5 A= 0.3 X 1.55 = 0. 465 5 &
D-6 A= 0.30 X 1.65 = 0. 495 5 &
D-7 A= 0.3 X 0.75 = 0. 263 5 &
D-8 A= 0.45 X 0.50 = 0. 225 5 &
D-9 A= 0.20 X 0.30 = 0. 060 5 &
D-10 A= 0.25 X 0.45 = 0.113 5 &
D-11 A= 0.25 X 0.65 = 0.163 5 &
D-12 A= 0.30 X 0.50 = 0.150 5 &
D-13 A= 0.35 X 0.90 = 0.315 5 &
D-14 A = 0.40 X 5 50 = 2. 200 5 &
/NEF = 5. 777 m2
7y Z—T1
D-1 L= 03X 28+ 030 X 1 0. 900
D-2 L= 03X 28+ 020 X 2 1. 000
D-3 L= 03X 28 + 33 X 1@ 4. 000
D-4 L= 015X 2@ + 0.15 X 1 0. 450
D-5 L= 030X 28 + 1.55 X 1 2.150
D-6 L= 030X 28 + 1.66 X 1 2. 250
D-7 L= 03X 1@+ 075 X 10 1. 100
D-8 L= 0.4 X 20 + 0.50 X 10 1. 400
D-9 L= 020X 1M+ 0.3 X 20 0. 800
D-10 L= 0.25 X 270 + 0.45 X 1A 0. 950
D-11 L= 0.25 X 27 + 0.656 X 1A 1. 150
D-12 L= 0.30 X 2 + 0.50 X 2 i 1. 600
D-13 L= 0.3 X 2 + 0.90 X 1 i 1. 600
D-14 L= 040 X 2% + 550 X 1 6. 300
/NEE 25. 650|m
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